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 INSTRUCTIONS TO CANDIDATE 

 

Read the following instructions carefully before you begin to attempt the questions. 

(1) This booklet contains 50 questions in all comprising the following two parts.  

• Part-(I)   : English                   (20 Questions) 

• Part-(II)  : RAGA                    (30 Questions) 

(2) All the questions are compulsory and carry equal marks. 

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages and find that no 

page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately. 

(4) There is no negative marking.  

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll number, Test 

name/Id and name of the examination on the Answer-Sheet carefully before you actually start attempting the questions. You 

must also put your signature on the Answer-Sheet at the prescribed place. These instructions must be fully complied with, failing 

which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERO’ mark. 

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant question 

number by pencil or Black/Blue ball pen only. 

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different from the 

information given in the application form, the candidature of such candidate will be treated as cancelled. 

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.  

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be deemed fit. 

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not spend 

too much time on any question. 

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates are 

advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in their own 

interest. Failing to comply with this provision will be considered as using unfair means in the examination and action will be 

taken against them including cancellation of their candidature. 

(12) No rough work is to be done on the Answer-Sheet. 

(13) No candidate can leave the examination hall before completion of the exam. 
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ENGLISH  

1.  Choose the most appropriate answer and fill in the  
 blanks:  
 Plural of 'tooth' is ________.  
 (A) Teeth (B) Tooth 
 (C) Tooths (D) None of the above 
 
2.  Choose the correct Reported form of the sentence 
 from the option given below. 
 Pinky said, "What a beautiful vase!"  
 (A) Pinky exclaimed that it is a very beautiful vase. 
 (B) Pinky said that it is a very beautiful  vase indeed. 
 (C) Pinky exclaimed that it was a very beautiful vase.  
 (D) Pinky reported that it was an indeed a beautiful 
 vase. 
 
3.  In the following question, out of the four alternatives,  
 select the alternative which is the best substitute of the  
 phrase. 
 A bias in favour of something.  
 (A) addiction (B) disposition 
 (C) predilection (D) impulse 
 
4.  Give the plural of the given word. 
 Series  
 (A) Series   (B) Serieses 
 (C) Seriess  (D) Seriefes 
 
Direction (5-8): Read the passage given below and answer 

the questions that follow. 
 
 People talk of memorials to him in statues of bronze or  
 marble or pillars and thus they mock him and belie his  
 message. What tribute shall we pay to him that he  
 would have appreciated? He has shown us the way to  
 live and the way to die and if we have not understood  
 that lesson, it would be better than we raised no  
 memorial to him, for the only fit memorial is to follow  
 reverently in the path he showed us and to do our duty  
 in life and in death. 
 He was a Hindu and an Indian, the greatest in many  
 generations and he was proud of being a Hindu and an  
 Indian. To him, India was dear because she had  
 represented throughout the ages certain immutable 
 truths. But though he was intensely religious and came  
 to be called the father of the Nation, which he had  
 liberated, yet no narrow religious or national bonds  
 confined his spirit. And so he became the greatest 
 internationalist, believing in the essential unity of man,  
 the underlying unity of all religions and the needs of the  
 humanity and more especially devoting himself to the 
 service of the poor and the distressed millions  
 everywhere. 
 His death brought more tributes that have  been paid at  
 the passing of any other human being in history.  
 Perhaps what would have pleased him best was the  
 spontaneous tributes that came from the people of  
 Pakistan. On the morrow of the tragedy, all of us forgot  
 for a while that bitterness that had crept in, the  
 estrangement and conflict of these past months and  
 Gandhi stood out as the beloved champion and leader  
 of the people of India, of India as it was before partition  
 cut up this living nation. 
 
5.  Which of the below sentences summarises the key idea  
 of the passage?  
 (A) Partition of India  
 (B) Story of a Hindu man 
 (C) Tribute to Mahatma Gandhi   
 (D) None of the above 
 

6.  Which of the following stands TRUE as per the reading  
 of the given passage?  
 (A) Gandhi believed in the essential unity of man,  
 underlying unity of all religions and  the needs of the  
 humanity.  
 (B) Gandhi stood out as the beloved champion and  
 leader of the people of Pakistan 
 (C) To Gandhi, India was dear because she had  
 represented throughout the ages certain ugly and  
 variable truths  
 (D) All of the above. 
 
7.  Which of the following words is the most similar in  
 meaning to the word ‘immutable’ as given in the  
 passage?  
 (A) Undetectable (B) Unassailable 
 (C) Untouched  (D) Unyielding 
 
8.  Which of the following words is the most opposite in  
 meaning to the word ‘liberated' as given in the  
 passage?  
 (A) Discharged  (B) Subjugated 
 (C) Comforted  (D) Extricated 
 
9.  In the following question, a sentence has been given in  
 Active/Passive Voice. Out of the four alternatives  
 suggested, select the one which best expresses the  
 same sentence in Passive/Active Voice. 
 The national anthem is being sung by Jason.  
 (A) Jason was singing the national anthem.  
 (B) Jason is singing the national anthem 
 (C) Jason sings the national anthem.   
 (D) Jason has sung the national anthem. 
 
10.  In the following question, a sentence is given with a  
 blank to be filled in with an appropriate word. Select the  
 correct alternative out of the four and indicate it by  
 selecting the appropriate option. 
 Bhartendu Harishchandra is known as ________  father  
 of modern Hindi literature as well as Hindi theatre.  
 (A) the (B) a 
 (C) an  (D) No article 
 
11.  Select the word with the correct spelling.  
 (A) Perverted  (B) Pervirted 
 (C) Parverted  (D) Parvirted 
 
12.  Form an adjective from the given word. 
 Courage 
 (A) Encourage  (B) Cowardice 
 (C) Courageous (D) Courteous 
 
13.  In the following question, a sentence is given with a  
 blank to be filled in with an appropriate word. Select the  
 correct alternative out of the four and indicate it by  
 selecting the appropriate option. 
 _________ his father was a king, Atikant was  brought  
 up like the son of a common man.  
 (A) But (B) So 
 (C) And  (D) Although 
 
14.  In the following question, out of the four alternatives,  
 select the word similar in meaning to the given word. 
 Irresolute  
 (A) Undecided  (B) Angry 
 (C) Ignorant  (D) Firm 
 
15.  In the following question, a sentence has been given in  
 Active/Passive Voice. Out of the four alternatives  
 suggested, select the one which best expresses the  
 same sentence in Passive/Active Voice. 
 What have you drawn?  
 (A) What has drawn by you?  
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 (B) What is being drawn by you? 
 (C) What have been drawn by you?   
 (D) What has been drawn by you? 
 
16.  In the following question, out of the four alternatives,  
 select the alternative which is the best substitute for the  
 given phrase. 
 To run away with a lover  
 (A) Deceive  (B) Cheat 
 (C) Escape  (D) Elope 
 
17.  Spot the erroneous parts, if any, in the following 
 sentences: 
 This is the boy (a)/ whom I think had won (b)/ the gold 
 medal in the dance competition  (c). No error (d)  
 (A) a  (B) b 
 (C) c (D) d 
 
18.  Change the narration:  
 Alisha said, "I have topped the exam".  
 (A) Alisha said to me that she topped the exam.  
 (B) Alisha told me that she has topped the exam. 
 (C) Alisha said that she had topped the exam.  
 (D) Alisha said to me that she topped the exam. 
 
19.  In the following question, a sentence is given with a  
 blank to be filled in with an appropriate word. Select the  
 correct alternative out of the four and indicate it by  
 selecting the appropriate option. 
 Hit the nail on the ________.  
 (A) Head (B) Hand 
 (C) Toe (D) Coffin 
 
20.  Identify the antonym of the given word. 
 Paltry  
 (A) Common (B) Small 
 (C) Considerable  (D) Meagre 

RAGA   

21. The ratio between two numbers is 4 :5. If each number  
 is increased by 4, the ratio becomes 6 : 7. Find the  
 difference between the numbers.  
 (A) 2 (B) 9 
 (C) 3 (D) 7 
 
22.  Which of the following is justiciable in nature?  
 (A) Fundamental Duties  
 (B) Directive principles of state policy 
 (C) Fundamental Rights   
 (D) None of these 
 
23.  If the ratio of perimeter and area of a square is 8:11.  
 Find the perimeter of the square.  
 (A) 44  (B) 22 
 (C) 88  (D) 24 
 
24.  Of the six members of a panel sitting in a  row, A is to  
 the right of C, but left of B. E is sitting left of C and right  
 of D, who is sitting to the right of F. Find the members  
 sitting at the two ends of the row.  
 (A) D, F  (B) A, B 
 (C) F, B  (D) F, D 
 
25.  According to the Indian Constitution, who is the head  
 of the executive?  
 (A) Prime Minister  
 (B) Cabinet Secretary of Government of India 
 (C) President  
 (D) Union Home Minister 
 
 

26.  In the following question, select the missing number  
 from the given alternatives. 
 4, 8, 16, ?, 64, 128  
 (A) 30 (B) 28 
 (C) 24  (D) 32 
 
27.  A reduction of 20% in the price of an apple enables a  
 man to buy 10 apples more for Rs.54. The reduced  
 price of apples per dozen is  
 (A) Rs. 4.32 (B) Rs. 12.96  
 (C) Rs. 10.80  (D) Rs. 14.40 
 

28.  Divide Rs 2,600 among A, B, C in the ratio 
1

2
: 

1

3
∶  

1

4
 

 Find the share of each. 
 (A) Rs 1,200, Rs 600, Rs 800  
 (B) Rs 1,200, Rs 800, Rs 600 
 (C) Rs 600, Rs 800, Rs 1,200  
 (D) Rs 800, Rs 600, Rs 1,200 
 
29.  In which state Sultanpur National Park is situated?  
 (A) Assam (B) West Bengal 
 (C) Meghalaya  (D) Haryana 
 
30.  Which of the following wildlife sanctuaries is not located  
 in Tamil Nadu?  
 (A) Indira Gandhi Wildlife Sanctuary   
 (B) Periyar Wildlife Sanctuary 
 (C) Vedanthangal Wildlife Sanctuary   
 (D) Mudumalai Wildlife Sanctuary 
 
31.  Magnetism at the centre of a bar magnet is _______.  
 (A) high (B) maximum 
 (C) around- zero   (D) minimum or maximum 
 
32.  In the following question, select the missing number  
 from the given series.  
 1, 8, 29, 92, 281, ?  
 (A) 567 (B) 628 
 (C) 776  (D) 848 
 
33.  In the following question, select the odd word pair from  
 the given alternatives.  
 (A) Head : Brain (B) Hand : Wrist 
 (C) Arm : Shoulder (D) Feet : Ankle 
 
34.  Three years ago, the average age of a family of 5  
 members was 17 years. A baby having been born, the  
 average age of the family remains the same today. The  
 age of the baby today is  
 (A) 3 years  (B) 2 years 
 (C) 1 years  (D) 1.5 years 
 
35.  Among four friends, Govind's age is twice of Krishan.  
 Nandu's age is twice of Krishan. Gwala is 6 years elder  
 to Krishan, but 6 years younger to Govind. Who is the 
 youngest?  
 (A) Govind  (B) Krishan 
 (C) Nandu  (D) Cannot be determined 
 
36.  Some equations are solved on the basis of certain  
 system. Find out the for the unsolved equation on that  
 basis.  
 If 3×2×8×4 = 632, 2×4×4×4 = 816 then 3×3×5×1 = ?  
 (A) 95  (B) 45 
 (C) 315  (D) 184 
 
37.  In the following question, select the word which cannot  
 be formed using the letters of the given word.  
 TRADITIONAL  
 (A) RADON  (B) RATION 
 (C) NATIONAL  (D) TRAIN 
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38.  Meghnad can do a piece of work in 45 hours. If he is  
 joined by Jayshri, who is 50% more efficient, in what  
 time will they together finish the work? 
 (A) 9 hours (B) 6 hours 
 (C) 12 hours (D) 18 hours 
 
39.  Select the related word/letters/number from the given  
 alternatives.  
 Iron Man Of India : Sardar Vallabhbhai  Patel : : Father  
 of the Nation : ?  
 (A) Mahatma Gandhi (B) Lokmanya Tilak 
 (C) Rajeev Gandhi (D) Jawahar Lal Nehru 
 
40.    The highest sporting honour in the country, Rajiv 

Gandhi Khel Ratna Award has now been renamed in 
the honour of whom? 

 (A) Roop Singh (B) Atal Bihari 
 (C) Kapil Dev (D) Major Dhyan Chand 
 
41.  Which of the following is related to "Blue  Revolution"?  
 (A) Irrigation (B) Agriculture 
 (C) Fishing (D) Indigo cultivation 
 
42.  The complete form of 'IC' in electronics is  
 (A) Internal circuit (B) Independent circuit 
 (C) Integrated circuit  (D) Inbuilt circuit 
 
43.  In a big garden 60% of the trees are coconut trees,  
 25% of the numbers of coconut trees are mango trees  
 and 20% of the number of mango trees are apple trees.  
 If the number of apple trees are 1500, then the number  
 of trees in the garden is :  
 (A) 48000  (B) 50000 
 (C) 51000  (D) 45000 
 
44.  Harsha moved his capital from______ to ________.  
 (A) Thanesar, Kanauj (B) Delhi, Deogiri 
 (C) Kamboj, Kanauj (D) Valabhi, Delhi 

45.  The perimeter of a rectangular plot is 48 m and area  
 is 108 m2. The dimensions of the plot are  
 (A) 36 m and 3 m (B) 12 m and 9 m 
 (C) 27 m and 4 m (D) 18 m and 6 m 
 
46.  If a2 + b2 = ab, then the value of (a3 + b3) (a2 + 6a + 12)  
 = ?  
 (A) 0  (B) 1 
 (C) -1  (D) 2 
 
47.  If sin 1° = p and sin 89° = q, then which one of the  
 following is correct?  
 (A) p is close to 0 and q is close to 1   
 (B) q < p 
 (C) p = q  
 (D) p is close to 1 and q is close to 0 
 
48.  Arrange the given words in the sequence in which they  
 occur in the dictionary.  
 i. Irrelevant   ii. Invincible  
 iii. Irresistible   iv. Invariable  
 v. Investigate  
 (A) iv, ii, v, iii, i (B) iv, v, i, iii, ii 
 (C) ii, v, iv, i, iii (D) iv, v, ii, i, iii 
 
49.  The ratio of printed price and cost price of  an article is  
 37/30. The shopkeeper offers a discount on a printed  
 price and gains 11% profit on selling the article. Find  
 the percentage of discount offered on the article.  
 (A) 11%  (B) 13% 
 (C) 37%  (D) 10% 
 
50.  Which of the following elements has the lowest melting  
 point?  
 (A) Platinum  (B) Sodium 
 (C) Antimony  (D) Krypton  
 

Space for rough work 
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ENGLISH  

Ans.1(A)  Teeth' is the plural of 'tooth'.  
Ans.2(C)  Pinky exclaimed that it was a very beautiful  
 vase. 
Ans.3(C)  Predilection means a preference or special liking  
 for something; a bias in favour of something. 
Ans.4(A)  Some nouns don’t change at all when they’re  
 pluralized.  
Ans.5(C)  Option 1, i.e.  ‘Partition of India’ does not receive  
 supportive content from the passage as only one  
 single line has been mentioned in the passage  
 about it. Similarly, nowhere does the passage  
 talk about the story of a Hindu man. It does talk  
 about Gandhi who was a Hindu man but that is  
 not what the whole passage revolves around  
 The key idea of the passage is to honour Gandhi  
 after his death. 
Ans.6(A)   
Ans.7(D)  On reading the sentence we can infer that it is  
 talking about fixed or unchangeable truths.  
 Therefore, ‘undetectable’ does not fit the criteria  
 as it means something which is imperceptible. 
 Out of the other words, ‘unassailable’ means 
 invulnerable and ‘untouched’ means 
 unconsumed. None  of these words make a 
 good fit keeping the meaning of the sentence 
 intact. ‘Unyielding’ makes the most appropriate 
 fit to be the closest synonym to ‘immutable’. 
Ans.8(B)  The hint to the right answer lies in the preceding 
 phrases ‘yet no narrow religious or national 
 bonds confined his spirit’, which further indicates 
 that the most opposite to the word ‘liberated’ 
 must be negative in nature as the word ‘liberate’ 
 means to be free. Out of the given options, only 
 ‘subjugated’ makes a negative carrier of the 
 meaning and makes the most opposite word to 
 ‘liberated’. 
Ans.9(B)  The given sentence is the passive form of a 
 present continuous tense. The structures for 
 active/passive voices are: 

 Passive: Object + is/are/am + being + verb (IIIrd 
 from) + by + subject. 
 Active: Subject + is/are/am + verb (ing) + 
 object…So, with the help of the above 
 structures, we  can convert the given 
 sentence into active  voice: 

 Jason is singing the national anthem 
Ans.10(A)  In the given sentence, we are referring to 
 Bhartendu Harishchandra as the originator of 
 Hindi literature as well as Hindi theatre. Since 
 we are specifying him in the sentence, the 
 correct preposition to be used here is "the". 
Ans.11(A)  Perverted: characterized by sexually abnormal 
 and unacceptable practices or tendencies. 
Ans.12(C)  Adjective means an attribute or a characteristic 
 of the given noun. Here, 'courage' has been 
 given as a noun, while 'courageous', which 
 means 'the characteristic carried by someone 
 with courage' makes the best fit. 
Ans.13(D)  Although is used for introducing a statement that 
 makes the main statement in a sentence seem 
 surprising and it gives the sense of ‘in spite of 
 the fact’. Here in  the sentence we can guess 
 from the context that although is required.  
Ans.14(A)  The word "irresolute" means: not able to decide 
 what to do; undecided. expresses the meaning 
 of the word “Irresolute”. 
Ans.15(D)  The given question in interrogative form of   
 present perfect tense. The structures of 
 active/passive voice for such sentences are: 
 Active: Wh-question word + has/have + verb 
 (IIIrd form) + subject 

 Passive: Wh-question word + has + been + 
 verb (IIIrd form) + by + subject 
 So, based on the above structure, the passive 
 voice of the given sentence would be: 
 What has been drawn by you? 
Ans.16(D) Elope = to run off with a lover secretly to be 
 married, usually without the consent or 
 knowledge of one's parents 
 Deceive = to persuade someone that 
 something false is the truth, or to keep the  truth 
 hidden from someone for your own  advantage 
 Cheat = act dishonestly or unfairly in order to 
 gain an advantage. 
 Escape = break free from confinement or 
 control.  
Ans.17(B)  'Whom' should be replaced by 'Who' as in the 
 sentence it has been already mentioned about a  
 boy. 
 Note: Who is used to refer to the subject of a 
 sentence. Whom is used to refer to the object of 
 a verb or preposition'. 
Ans.18(C)  Here the sentence is in direct speech and 
 doesn’t have an object. So, reporting verb ‘said’  
 remains as it is in indirect speech. The tense is  
 ‘simple past' as marked by the use of ‘topped’  
 and is changed to past perfect ‘had + topped’.  
 She is used in place of I in the other part of 
 the sentence.   
Ans.19(A)  The complete proverb is ‘Hit the nail on the  
 head’ which means find exactly the right answer.  
Ans.20(C)  Paltry means small. Its opposite is 
 'considerable'. 

RAGA   
Ans.21(A)  Given, ratio between two numbers is 4:5. 
 Let the numbers be 4a and 5a respectively. 
 Where a is any constant 
 Given, if each number is increased by 4, the 
 ratio becomes 6:7 

 ∴ 
4𝑎+4

5𝑎+4
 = 6/7 

 ⇒ 28a + 28 = 30a +24 

 ⇒ 2a = 4 

 ⇒ a = 2 
 Difference between number = 5a-4a 
 ⇒ Difference between number = a= 2 
Ans.22(C)  The Fundamental Rights are justiciable in nature  
 because when violated the aggrieved individual  
 can move the courts for their enforcement.  
 Fundamental Rights and Directive Principles are  
 non-justiciable in nature because they are not  
 legally enforceable by the courts for their  
 violation. Therefore, the government cannot be  
 compelled to implement them. 
Ans.23(B)  Let the side of the square be A.   
 According to the question,  

 
4𝐴

𝐴2 =
8

11
 

 A= 11/2 
 Perimeter = 4A = 22 
Ans.24(C)  

  
Ans.25(C)  As per the Article 53 (1) of the Indian 
 Constitution, the head of the executive is the 
 President of India. He has all the constitutional  
 powers and can exercise them directly or  
 through subordinate officers. 
Ans.26(D)  The pattern followed is shown below, 
 4 × 2 = 8 
 8 × 2 = 16 
 16 × 2 = 32 
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 32 × 2 = 64 
 64 × 2 = 128 
Ans.27(B)  A reduction of 20% in the price of an apple 
 enables a man to buy 10 apples more for  
 Rs. 54. It means he buys 10 apples in  
 (20% of 54=54/5) Rs. 

 ∴ CP of 10 apples = Rs.(54/5) 
 ⇒ CP of 1 apples = Rs. (54/50) 

 ⇒ CP of 12 apples = (54/50) × 12  
 = Rs. 12.96 
Ans.28(B)  The ratio of A: B : C = 6 : 4 : 3 

 A = 
2600

13
 × 6 = 1200 

 B = 200 × 4 = 800 
 C = 200 × 3 =600 
Ans.29(D)  Sultanpur National Park (formerly Sultanpur Bird  
 Sanctuary) is located at Sultanpur fifteen  
 kilometers from Gurgaon, Haryana and 50 km 
 from Delhi in India. 
Ans.30(B)  Periyar National Park and Wildlife  Sanctuary is  
 a protected area near Thekkady in the districts  
 of Idukki,  Kottayam and Pathanamthitta in  
 Kerala, India. 
Ans.31(C)  As the middle the magnetic lines are far away  
 from one another and at the poles are  close to  
 each other that is why at the center the magnetic  
 force is less than the poles. 
Ans.32(D)  1 × 3 + 5 = 8  
 8 × 3 + 5 = 29 
 29 × 3 + 5 = 92  
 92 × 3 + 5 = 281  
 281 × 3 + 5 = 848 
Ans.33(A)  The two parts in all cases are joined to one 
 another except Head and Brain. The Brain is  
 inside the Head and not joined to it. 
 Hence, Head : Brain is the odd word pair. 
Ans.34(B)  Present age of 5 members  
 = (5×17+3×5) = 100 Years 
 Present age of 5 members and a baby  
 = 17×6 = 102 years 
 Age of baby = 102-100 = 2 years. 
Ans.35(C)  The order will be - Govind ˃ Gwala ˃ Krishan ˃  
 Nandu. Thus, Nandu is youngest among all. 
Ans.36(A)  As, 3×2= 6 and 8×4 = 32,  
 3×2×8×4 = 632  
 2×4= 8 and 4×4 = 16,   
 2×4×4×4 = 816  
 Similarly, 3×3= 9 and 5×1 = 5,  
  3×3×5×1 = 95 
Ans.37(C)  ‘NATIONAL’; There is no double ‘N’ in the given  
 word. 
Ans.38(D)  Meghnad can do 1 unit of work in 45 hours 
 Jayshri is 50% more efficient than Meghnad 
 ⇒ Meghnad will do 1/45 of work in one hour 
 and Jayshri will do (1/45 + 0.5 × 1/45) = 1/30 
 ⇒ Together their one hour’s work  

 = (1/45 + 1/30) = 5/90 ⇒ 1/18  

 ∴ Together, they will complete the whole work in  
 18 hours. 
Ans.39(A)  Sardar Vallabhbhai Patel is known as the  iron  
 man of India. Similarly, the father of the nation is 
 Mahatma Gandhi. 
Ans.40(D)   Major Dhyan Chand 
Ans.41(C) Blue Revolution is related to fish production, 
 aquaculture in India.   
Ans.42(C)  An integrated circuit (IC), sometimes called a  
 chip or microchip, is a semiconductor wafer on  
 which thousands or millions of tiny  resistors,  

 capacitors, and transistors are fabricated. An IC  
 can function as an amplifier, oscillator, timer,  
 counter, computer memory, or microprocessor. 
Ans.43(B)  Let total number of trees in the garden be 
 100 unit. Number of coconut trees  
 = 60% of 100 = 60 unit 
 Number of mango trees = 25% of 60 = 15  unit. 
 Number of apple trees = 20% of 15 = 3 unit. 
 According to question 
 3 unit = 1500 
 1 unit = 500 
 100 unit = 50000 
 Basic method: 
 If the number of trees in the garden be x 
 Then, 

 𝑥 ×
60

100
×

25

100
×

20

100
= 1500 

 ⇒ x × 
3

5
×

1

4
 ×

 1

5
 = 1500 

 ⇒ x =1500×5×4×5/3 = 50000 
Ans.44(A)  Harsha (c. 590–647 CE), also known as 
 Harshavardhana, was an Indian emperor who  
 ruled North India from 606 to 647 CE. He  
 belonged to Pushyabhuti dynasty. The early  
 capital of Pushyabhuti dynasty was at Thanesar,  
 Haryana which was moved to Kannauj, Uttar  
 Pradesh by Harshavardana. 
Ans.45(D)  P = 2(l+b)  
 2(l+b) = 48  
 l+b =24----(i)  
 A= lxb  
 lxb = 108----(ii)  
 By solving (i) and (ii), we get: 
 l=18m and b=6m. 
Ans.46(A)  ⇒ a2 + b2 = ab 

 ⇒ a2 + b2 - ab = 0 

 ⇒ (a3 + b3)(a2 + 6a + 12) 

 ⇒ (a + b)(a2 + b2 - ab) (a2 + 6a + 12) 

 ⇒ (a + b)(a2 + 6a + 12) = 0 Short Trick: 
 Here, One equation and two variable, so a 
 and b can have infinite value : 
 let suppose that a = 0 
 then, a2 + b2 = ab (a = 0) 
 ⇒ b = 0 

 ⇒ (a3 + b3) (a2 + 6a + 12) (a = 0, b = 0) 

 ⇒ (a3 + a3)(a2 + 6a + 12) = 0 
Ans.47(A)  We know that, 
 sin 0° = 0 and sin 90° = 1 
 ⇒ sin 1° is close to 0 and sin 89° is close to 1 

 ∴ p is close to 0 and q is close to 1 
Ans.48(D)  Alphabetical order is:  
 Hence the correct order is (iv, v, ii, i, iii). 
Ans.49(D)  Let the printed price be Rs. y and the cost  price  
 be Rs. x  
 After discount, the selling price  
 = y × (100 – d)/100   
 Profit = 11%  

 ∴ (S.P – C.P)/C.P = 0.11  

 ∴ S.P/C.P = 1.11  
 y × (100 – d)]/(x × 100) = 1.11  
 But, y/x = 37/30  
 ∴ 100 – d = 1.11 × 100 × 30/37  
 = 0.03 × 100 × 30 = 90  
 d = 100 – 90 = 10% 
Ans.50(D)   Melting point of Platinum, Sodium, Antimony and  
 Krypton is 1,768 °C, 97.79 °C, 630.6 °C and - 
 157.4 °C respectively. Therefore, Krypton has  
 the lowest melting point of all these elements. 
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INSTRUCTIONS TO CANDIDATE 
 

iz'uksa dks gy djus ls igys fuEufyf[kr funsZ'kksa dks /;ku ls i<+saA 

(1) bl iqfLrdk esa 50 ç'u gSa] tks fd dqy nks Hkkxkas esa foHkkftr gSaA 

 Hkkx- (I)    : ENGLISH                  (20 iz'u) 

 Hkkx- (II)   : RAGA                   (30 iz'u) 

(2) lHkh ç'u vfuok;Z gSa rFkk lcds cjkcj vad gSaA 

(3) ç'uksa dks gy djuk çkjEHk djus ls igys vkidks bl iqfLrdk dh tkap djuh pkfg, vkSj ;g lqfuf'pr djuk pkfg, fd blesa lHkh 

i`"B mifLFkr gSa vkSj dksbZ ì"B de ;k cnyk gqvk ugha gSA vxj vkidks bl iqfLrdk esa dksbZ nks"k feyrk gS] rks vkidks rqjar bls 

cnyuk gksxkA 

(4) fdlh iz”u esa udjkRed vadu ugha gSA 

(5) vkidks fujh{kd }kjk mÙkj iqfLrdk vyx ls nh tk,xhA vkidks ç'uksa dks gy djuk çkjEHk djus ls igys viuk uke] jksy uacj] 

VsLV uke @vkbZMh vkSj@ijh{kk dk uke mÙkj&iqfLrdk ij lko/kkuhiwoZd iwjk djuk gksxkA vkidks mÙkj&iqfLrdk esa fu/kkZfjr LFkku 

ij viuk gLrk{kj Hkh djuk gksxkA bu funsZ'kksa dk iwjh rjg ls ikyu fd;k tkuk pkfg,] ftldks u djus ij vkidh mÙkj&iqfLrdk 

dk ewY;kadu ugha fd;k tk,xk vkSj vkidks ^'kwU;^ vad fn;k tk,xkA 

(6) mÙkj dsoy isafly ;k CySd@Cyw c‚y isu }kjk mÙkj& iqfLrdk çklafxd ç'u la[;k ds lEcaf/kr xksys dks iwjh rjg ls CySd djds 

fn[kk;k tkuk pkfg,A 

(7) OMR mÙkj iqfLrdk  dks ,d e'khu }kjk tkapk tk;sxkA ;fn fdlh fLFkfr esa miyC/k tkudkjh] vkosnu i= esa nh x;h tkudkjh 

ls vyx ik;h x;h] rks vkosnd dk vkosnu fujLr dj fn;k tk;sxkA 

(8) fujh{kd dh vuqefr feyus ds ckn gh dksbZ ijh{kk d{k NksM+ ldrk gSA 

(9) mijksä esa ls fdlh Hkh funsZ'k dk vuqikyu djus esa foQy mEehnokj dks mi;qä  dk;Zokgh@tqekZuk ds fy, mÙkjnk;h le>k tk 

ldrk gSA  

(10) ftruh tYnh gks lds mruh tYnh vkSj lko/kkuh ls ç'uksa dk mÙkj nsaA dqN loky dfBu gks ldrs gSa vkSj nwljs vklku gks ldrs 

gSaA fdlh Hkh ç'u ij T;knk le; ugha fcrk,aA 

(11)  eksckby Qksu vkSj ok;jysl lapkj midj.k] ijh{kk d{k@dejs esa iwjh rjg ls çfrcaf/kr gSaA dksbZ Hkh vkosnd vius eksckby dk ;k 

fdlh ok;jysl lapkj midj.k dks can djds Hkh vius ikl ugha j[k ldrkA fu;e dk mYya?ku djus ij vkosnd ds fo:) mfpr 

dk;Zokgh dh tk;sxh vkSj mldk vkosnu Hkh fujLr fd;k tk ldrk gSA  

(12)  mÙkj&i= ij dksbZ jQ dke ugha fd;k tkuk pkfg,A  

(13)  dksbZ Hkh mEehnokj ijh{kk iwjk gksus ls igys ijh{kk d{k ugha NksM+ ldrk gSA 

 

 

 

 

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksy sa 

  

vf/kdre vad % 50 

dqy ç'u         % 50  

fu/kkZfjr le; % 45 feuV 

 

Maximum Marks : 100 

Total Questions : 100 

Time Allowed :   90 Min. 

ijh{kkFkhZ dk uke :.............................................................. 

fnuk¡d :.................. ijh{kk dksM ........................................ 

vuqØekad :...................................................................... 

 

 

Maximum Marks : 100 

Total Questions : 100 

Time Allowed :   90 Min. 

TEST FORM NUMBER

   
  

Time Allowed :   90 

Min. 
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ENGLISH  

1.  Choose the most appropriate answer and fill in the  
 blanks:  
 Plural of 'tooth' is ________.  
 (A) Teeth (B) Tooth 
 (C) Tooths (D) None of the above 
 
2.  Choose the correct Reported form of the sentence 
 from the option given below. 
 Pinky said, "What a beautiful vase!"  
 (A) Pinky exclaimed that it is a very beautiful vase. 
 (B) Pinky said that it is a very beautiful  vase indeed. 
 (C) Pinky exclaimed that it was a very beautiful vase.  
 (D) Pinky reported that it was an indeed a beautiful 
 vase. 
 
3.  In the following question, out of the four alternatives,  
 select the alternative which is the best substitute of the  
 phrase. 
 A bias in favour of something.  
 (A) addiction (B) disposition 
 (C) predilection (D) impulse 
 
4.  Give the plural of the given word. 
 Series  
 (A) Series   (B) Serieses 
 (C) Seriess  (D) Seriefes 
 
Direction (5-8): Read the passage given below and answer 

the questions that follow. 
 
 People talk of memorials to him in statues of bronze or  
 marble or pillars and thus they mock him and belie his  
 message. What tribute shall we pay to him that he  
 would have appreciated? He has shown us the way to  
 live and the way to die and if we have not understood  
 that lesson, it would be better than we raised no  
 memorial to him, for the only fit memorial is to follow  
 reverently in the path he showed us and to do our duty  
 in life and in death. 
 He was a Hindu and an Indian, the greatest in many  
 generations and he was proud of being a Hindu and an  
 Indian. To him, India was dear because she had  
 represented throughout the ages certain immutable 
 truths. But though he was intensely religious and came  
 to be called the father of the Nation, which he had  
 liberated, yet no narrow religious or national bonds  
 confined his spirit. And so he became the greatest 
 internationalist, believing in the essential unity of man,  
 the underlying unity of all religions and the needs of the  
 humanity and more especially devoting himself to the 
 service of the poor and the distressed millions  
 everywhere. 
 His death brought more tributes that have  been paid at  
 the passing of any other human being in history.  
 Perhaps what would have pleased him best was the  
 spontaneous tributes that came from the people of  
 Pakistan. On the morrow of the tragedy, all of us forgot  
 for a while that bitterness that had crept in, the  
 estrangement and conflict of these past months and  
 Gandhi stood out as the beloved champion and leader  
 of the people of India, of India as it was before partition  
 cut up this living nation. 
 
5.  Which of the below sentences summarises the key idea  
 of the passage?  
 (A) Partition of India  
 (B) Story of a Hindu man 
 (C) Tribute to Mahatma Gandhi   
 (D) None of the above 
 

6.  Which of the following stands TRUE as per the reading  
 of the given passage?  
 (A) Gandhi believed in the essential unity of man,  
 underlying unity of all religions and  the needs of the  
 humanity.  
 (B) Gandhi stood out as the beloved champion and  
 leader of the people of Pakistan 
 (C) To Gandhi, India was dear because she had  
 represented throughout the ages certain ugly and  
 variable truths  
 (D) All of the above. 
 
7.  Which of the following words is the most similar in  
 meaning to the word ‘immutable’ as given in the  
 passage?  
 (A) Undetectable (B) Unassailable 
 (C) Untouched  (D) Unyielding 
 
8.  Which of the following words is the most opposite in  
 meaning to the word ‘liberated' as given in the  
 passage?  
 (A) Discharged  (B) Subjugated 
 (C) Comforted  (D) Extricated 
 
9.  In the following question, a sentence has been given in  
 Active/Passive Voice. Out of the four alternatives  
 suggested, select the one which best expresses the  
 same sentence in Passive/Active Voice. 
 The national anthem is being sung by Jason.  
 (A) Jason was singing the national anthem.  
 (B) Jason is singing the national anthem 
 (C) Jason sings the national anthem.   
 (D) Jason has sung the national anthem. 
 
10.  In the following question, a sentence is given with a  
 blank to be filled in with an appropriate word. Select the  
 correct alternative out of the four and indicate it by  
 selecting the appropriate option. 
 Bhartendu Harishchandra is known as ________  father  
 of modern Hindi literature as well as Hindi theatre.  
 (A) the (B) a 
 (C) an  (D) No article 
 
11.  Select the word with the correct spelling.  
 (A) Perverted  (B) Pervirted 
 (C) Parverted  (D) Parvirted 
 
12.  Form an adjective from the given word. 
 Courage 
 (A) Encourage  (B) Cowardice 
 (C) Courageous (D) Courteous 
 
13.  In the following question, a sentence is given with a  
 blank to be filled in with an appropriate word. Select the  
 correct alternative out of the four and indicate it by  
 selecting the appropriate option. 
 _________ his father was a king, Atikant was  brought  
 up like the son of a common man.  
 (A) But (B) So 
 (C) And  (D) Although 
 
14.  In the following question, out of the four alternatives,  
 select the word similar in meaning to the given word. 
 Irresolute  
 (A) Undecided  (B) Angry 
 (C) Ignorant  (D) Firm 
 
15.  In the following question, a sentence has been given in  
 Active/Passive Voice. Out of the four alternatives  
 suggested, select the one which best expresses the  
 same sentence in Passive/Active Voice. 
 What have you drawn?  
 (A) What has drawn by you?  
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 (B) What is being drawn by you? 
 (C) What have been drawn by you?   
 (D) What has been drawn by you? 
 
16.  In the following question, out of the four alternatives,  
 select the alternative which is the best substitute for the  
 given phrase. 
 To run away with a lover  
 (A) Deceive  (B) Cheat 
 (C) Escape  (D) Elope 
 
17.  Spot the erroneous parts, if any, in the following 
 sentences: 
 This is the boy (a)/ whom I think had won (b)/ the gold 
 medal in the dance competition  (c). No error (d)  
 (A) a  (B) b 
 (C) c (D) d 
 
18.  Change the narration:  
 Alisha said, "I have topped the exam".  
 (A) Alisha said to me that she topped the exam.  
 (B) Alisha told me that she has topped the exam. 
 (C) Alisha said that she had topped the exam.  
 (D) Alisha said to me that she topped the exam. 
 
19.  In the following question, a sentence is given with a  
 blank to be filled in with an appropriate word. Select the  
 correct alternative out of the four and indicate it by  
 selecting the appropriate option. 
 Hit the nail on the ________.  
 (A) Head (B) Hand 
 (C) Toe (D) Coffin 
 
20.  Identify the antonym of the given word. 
 Paltry  
 (A) Common (B) Small 
 (C) Considerable  (D) Meagre 

RAGA   

21.  दो संख्याओ ंका अनुपात 4 : 5 है| यदद प्रते्यक संख्या को 4 से बढ़ा ददया  

 जाये तो यह अनुपात 6 :7 हो जाता है| संख्याओ ंके बीच अंतर ज्ञात कीदजये|  

 (A) 2 (B) 9 

 (C) 3  (D) 7 

 

22. दनम्नदिखित में से कौन सा प्रकृदत में न्यायसंगत है?  

 (A) मौदिक कततव्ो ं (B) राज्य नीदत के दनदेशक दसद्ांत 

 (C) मौदिक अदिकार (D) इनमें से कोई नही ं

 

23.  यदद एक वगत की पररदि और के्षत्रफि का अनुपात 8:11 है। तो वगत की  

 पररदि ज्ञात करें।  

 (A) 44  (B) 22 

 (C) 88  (D) 24 

 

24.  एक पंखि में बैठे पैनि के छ: सदस्ो ंमें से A, C के  दायी ं ओर बैठा है,  

 दकनु्त B के बायी ंओर बैठा है | E, C के बायी ंओर और D स्वयं F के दायी  

 ओर बैठा है, तो पंखि के दोनो ंदकनारो ंपर कौन-से सदस् बैठे हैं?  

 (A) D, F  (B) A, B 

 (C) F, B  (D) F, D 

 

25.  भारतीय संदविान के अनुसार, कायत पादिका का प्रमुि कौन होता है?  

 (A) प्रिानमंत्री  

 (B) भारत सरकार के कैदबनेट सदचव 

 (C) राष्ट्र पदत  

 (D) कें द्रीय गृह मंत्री 

 

26.  दनम्नदिखित प्रश्न में, ददए गये दवकल्ो ंमें से िुप्त  संख्या चुदनए। 

 4, 8, 16, ?, 64, 128  

 (A) 30  (B) 28 

 (C) 24 (D) 32 

 

27.  एक सेब की कीमत में 20% की कमी होने से एक आदमी रु. 54 से 10  

 अदिक सेब िरीद सकता है। सेब की घटी हुई कीमत प्रदत दजतन दकतनी है?  

 (A) रु. 4.32 (B) रु. 12.96  

 (C) रु. 10.80 (D) रु. 14.40 

 

28.  2,600 को A, B, C में  
1

2
∶
1

3
 :
1

4
 के अनुपात में बााँटें। प्रते्यक का दहस्सा ज्ञात  

 करें।  

 (A) Rs 1,200, Rs 600, Rs 800 (B) Rs 1,200, Rs 800, Rs 600 

 (C) Rs 600, Rs 800, Rs 1,200 (D) Rs 800, Rs 600, Rs 1,200 

 

29.  सुल्तानपुर राष्ट्र ीय उद्यान दकस राज्य में खथित है?  

 (A) असम (B) पदिम बंगाि 

 (C) मेघािय (D) हररयाणा 

 

30.    दनम्नदिखित वन्यजीव अभयारण्ो ंमें से कौन सा तदमिनाडु में खथित नही ंहै?  

 (A) इंददरा गांिी वन्यजीव अभयारण् (B) पेररयार वन्यजीव अभयारण् 

 (C) वेदांतंगि वन्यजीव अभयारण् (D) मुदुमिाई वन्यजीव अभयारण् 

 

31.  एक बार चंुबक के कें द्र में चंुबकत्व _______ होता है।  

 (A) उच्च (B) अदिकतम 

 (C) िगभग- शून्य (D) नू्यनतम या अदिकतम 

 

32.  दनम्नदिखित प्रश्न में, दी गई शंृ्ििा से िुप्त संख्या का चयन करें।  

 1, 8, 29, 92, 281, ?  

 (A) 567  (B) 628 

 (C) 776  (D) 848 

 

33.  दनम्नदिखित प्रश्न में ददए गए दवकल्ो ंमें से बेजोड़ शब्द जोड़ी को चुदनए।  

 (A) दसर : मखिष्क (B) हाि : किाई 

 (C) भुजा : कंिे  (D) पैर : टिने 

 

34.  पांच सदस्ो ं के एक पररवार की 3 वर्त पहिे औसत आयु 17 वर्त िी।  

 पररवार में एक बचे्च का जन्म हुआ, दकंतु वततमान में पररवार की औसत आयु  

 वही रहती है। वततमान में बचे्च की आयु क्या है?  

 (A) 3 वर्त (B) 2 वर्त 

 (C) 1 वर्त (D) 1.5 वर्त 

 

35.  चार दोिो ंमें, गोदवंद की उम्र कृष्ण की उम्र से दोगुनी है। नंदू की उम्र कृष्ण  

 के उम्र की आिी है। कृष्ण ग्वािा से 6 वर्त बड़ा है, िेदकन गोदवंद से 6 वर्त  

 छोटा है। सबसे छोटा कौन है?  

 (A) गोदवन्द (B) कृष्ण 

 (C) नंदू (D) दनिातररत नही ंदकया जा सकता 

 

36. कुछ समीकरणो ंका कुछ प्रणादियो ंके आिार पर हि दनकािा गया है |  

 उसी आिार पर उस समीकरण का सही उत्त्तर ज्ञात करें  दजसका हि नही ं 

 दनकािा गया है?  

 यदद 3 ×2 ×8 ×4 = 632, 2 ×4 ×4 ×4 = 816 हो, तो 3 ×3 ×5 ×1 = ?  

 (A) 95  (B) 45 

 (C) 315 (D) 184 

 

37.  दनम्नदिखित प्रश्न में, उस शब्द का चयन करें  दजसे ददए गए शब्द के अक्षरो ं 

 का उपयोग करके गदठत नही ंदकया जा सकता है। 

 TRADITIONAL  

 (A) RADON  (B) RATION 

 (C) NATIONAL  (D) TRAIN 

 

38.  मेघनाद एक कायत को 45 घंटे में पूरा कर सकता है।  यदद जयश्ी, जो उससे  

 50% अदिक कुशि है, उसके साि दमि कर कायत करती है तब दोनो ं 

 दमिकर दकतने समय में कायत पूरा करेंगे?  

 (A) 9 घंटे  (B) 6 घंटे 

 (C) 12 घंटे  (D) 18 घंटे 

 

39.  ददए गए दवकल्ो ंसे संबंदित शब्द / अक्षर / संख्या का चयन करें। 

 भारत का आयरन मैन: सरदार वल्लभ भाई पटेि: राष्ट्र  के दपता:?  

 (A) महात्मा गांिी (B) िोकमान्य दतिक 

 (C) राजीव गांिी  (D) जवाहर िाि नेहरू 

 

40. देश के सवोच्च िेि सम्मान राजीव गांिी िेि रत्न पुरस्कार का नाम 

बदिकर अब दकसके सम्मान में दकया गया है? 

  (A) रूप दसंह (B) अटि दबहारी 
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 (C) कदपि देव (D) मेजर ध्यान चंद 

41.  दनम्नदिखित में से कौन सा “नीिी क्ांदत” से संबंदित  है?  

 (A) दसंचाई  (B) कृदर् 

 (C) मत्स्य पािन  (D) नीि की िेती 

 

42.  इिैक्टर रादनक्स में 'IC' का पूणत रूप क्या है?  

 (A) इंटनति सदकत ट (B) इंदडपेंडेन्ट सदकत ट 

 (C) इंटीगे्रटेड सदकत ट (D) इन-दबल्ट सदकत ट 

 

43.  एक बगीचे में 60% पेड़, नाररयि के पेड़ है। उसमें नाररयि के पेड़ो ंकी  

 संख्या के 25% आम के पेड़ है और आम के पेड़ो ंकी संख्या के 20% सेब  

 के पेड़ है। तदनुसार, यदद सेब के पेड़ो ंकी संख्या 1500 हो, तो उस बगीचे  

 में कुि पेड़ो ंकी संख्या दकतनी है?  

 (A) 48000  (B) 50000 

 (C) 51000  (D) 45000 

 

44.  राजा हर्त ने अपनी राजिानी _________ से  _________ थिानांतररत की िी |  

 (A) िानेसर, कन्नौज (B) ददल्ली, देवदगरी 

 (C) कम्बोज, कन्नौज (D) वािाभी, ददल्ली 

 

45.  एक आयताकार प्लॉट का पररमाप 48 मी. है और के्षत्रफि 108 मी.2 है। 

 प्लॉट के आयाम हैं  

 (A) 36 मी. और 3 मी. (B) 12 मी. और 9 मी. 

 (C) 27 मी. और 3 मी. (D) 18 मी. और 6 मी 

 

46.  अगर a2 + b2 = ab है, तो (a3 + b3) (a2+ 6a + 12) = ? का मान ज्ञात  

 कीदजए।  

 (A) 0  (B) 1 

 (C) -1 (D) 2 

 

47.  यदद sin1° = p और sin 89° = q है, तो  दनम्नदिखित में से क्या सही है?  

 (A) p, 0 के दनकट है और q, 1 के दनकट है   

 (B) q < p 

 (C) p = q  

 (D) p, 1 के दनकट है और q, 0 के दनकट है 

 

48.  ददए गए शब्दो ंको अनुक्म में व्वखथित करें  दजसमें वे शब्दकोश में होते हैं। 

 i. असंगत ii. अजेय   

 iii अिक  iv. अचि   

 v. जांच करें   

 (A) iv, ii, v, iii, i (B) iv, v, i, iii, ii 

 (C) ii, v, iv, i, iii (D) iv, v, ii, i, iii 

 

49.  एक विु के अंदकत मूल्य और क्य मूल्य का अनुपात 37/30 है। दुकानदार  

 अंदकत मूल्य पर छूट देने की पेशकश करता है और विु को बेचकर 11%  

 का िाभ अदजतत करता है। विु पर दी गई छूट प्रदतशत ज्ञात कीदजये।  

 (A) 11%  (B) 13% 

 (C) 37%  (D) 10% 

 

50.  दनम्न में से कौन से तत्व का गिनांक सबसे कम है?  

 (A) पे्लदटनम  (B) सोदडयम 

 (C) सुरमा  (D) दक्प्टन  

Space for rough work 
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ENGLISH  

Ans.1(A)  Teeth' is the plural of 'tooth'.  
Ans.2(C)  Pinky exclaimed that it was a very beautiful  
 vase. 
Ans.3(C)  Predilection means a preference or special liking  
 for something; a bias in favour of something. 
Ans.4(A)  Some nouns don’t change at all when they’re  
 pluralized.  
Ans.5(C)  Option 1, i.e. ‘Partition of India’ does not receive  
 supportive content from the passage as only one  
 single line has been mentioned in the passage  
 about it. Similarly, nowhere does the passage  
 talk about the story of a Hindu man. It does talk  
 about Gandhi who was a Hindu man but that is  
 not what the whole passage revolves around  
 The key idea of the passage is to honour Gandhi  
 after his death. 
Ans.6(A)   
Ans.7(D)  On reading the sentence we can infer that it is  
 talking about fixed or unchangeable truths.  
 Therefore, ‘undetectable’ does not fit the criteria  
 as it means something which is imperceptible. 
 Out of the other words, ‘unassailable’ means 
 invulnerable and ‘untouched’ means 
 unconsumed. None  of these words make a 
 good fit keeping the meaning of the sentence 
 intact. ‘Unyielding’ makes the most appropriate 
 fit to be the closest synonym to ‘immutable’. 
Ans.8(B)  The hint to the right answer lies in the preceding 
 phrases ‘yet no narrow religious or national 
 bonds confined his spirit’, which further indicates 
 that the most opposite to the word ‘liberated’ 
 must be negative in nature as the word ‘liberate’ 
 means to be free. Out of the given options, only 
 ‘subjugated’ makes a negative carrier of the 
 meaning and makes the most opposite word to 
 ‘liberated’. 
Ans.9(B)  The given sentence is the passive form of a 
 present continuous tense. The structures for 
 active/passive voices are: 

 Passive: Object + is/are/am + being + verb (IIIrd 
 from) + by + subject. 
 Active: Subject + is/are/am + verb (ing) + 
 object…So, with the help of the above 
 structures, we  can convert the given 
 sentence into active  voice: 

 Jason is singing the national anthem 
Ans.10(A)  In the given sentence, we are referring to 
 Bhartendu Harishchandra as the originator of 
 Hindi literature as well as Hindi theatre. Since 
 we are specifying him in the sentence, the 
 correct preposition to be used here is "the". 
Ans.11(A)  Perverted: characterized by sexually abnormal 
 and unacceptable practices or tendencies. 
Ans.12(C)  Adjective means an attribute or a characteristic 
 of the given noun. Here, 'courage' has been 
 given as a noun, while 'courageous', which 
 means 'the characteristic carried by someone 
 with courage' makes the best fit. 
Ans.13(D)  Although is used for introducing a statement that 
 makes the main statement in a sentence seem 
 surprising and it gives the sense of ‘in spite of 
 the fact’. Here in the sentence we can guess 
 from the context that although is required.  
Ans.14(A)  The word "irresolute" means: not able to decide 
 what to do; undecided. expresses the meaning 
 of the word “Irresolute”. 
Ans.15(D)  The given question in interrogative form of 
 present perfect tense. The structures of 
 active/passive voice for such sentences are: 
 Active: Wh-question word + has/have + verb 
 (IIIrd form) + subject 

 Passive: Wh-question word + has + been + 
 verb (IIIrd form) + by + subject 
 So, based on the above structure, the passive 
 voice of the given sentence would be: 
 What has been drawn by you? 
Ans.16(D) Elope = to run off with a lover secretly to be 
 married, usually without the consent or 
 knowledge of one's parents 
 Deceive = to persuade someone that 
 something false is the truth, or to keep the  truth 
 hidden from someone for your own  advantage 
 Cheat = act dishonestly or unfairly in order to 
 gain an advantage. 
 Escape = break free from confinement or 
 control.  
Ans.17(B)  'Whom' should be replaced by 'Who' as in the 
 sentence it has been already mentioned about a  
 boy. 
 Note: Who is used to refer to the subject of a 
 sentence. Whom is used to refer to the object of 
 a verb or preposition'. 
Ans.18(C)  Here the sentence is in direct speech and 
 doesn’t have an object. So, reporting verb ‘said’  
 remains as it is in indirect speech. The tense is  
 ‘simple past' as marked by the use of ‘topped’  
 and is changed to past perfect ‘had + topped’.  
 She is used in place of I in the other part of 
 the sentence.   
Ans.19(A)  The complete proverb is ‘Hit the nail on the  
 head’ which means find exactly the right answer.  
Ans.20(C)  Paltry means small. Its opposite is 
 'considerable'. 

RAGA 

Ans.21(A)  दिया गया है दि िो संख्याओ ंिा अनुपात 4:5 है  

 माना दि वह संख्याएँ क्रमश: 4a और 5a हैं जहाँ a एि अचल है  

 यदि प्रते्यि संख्या िो 4 से बढ़ा दिया जाये तो अनुपात 6:7 हो  

 जाता है  

 ∴ 
4𝑎+4

5𝑎+4
 = 6/7 

 ⇒ 28a + 28 = 30a +24 

 ⇒ 2a = 4 

 ⇒ a = 2 

 संख्याओ िा अंतर = 5a -4a 

 ⇒ संख्याओ िा अंतर = a = 2 

Ans.22(C)  मौदलि अदििार प्रिृदत में न्यायसंगत हैं क्ोदंि जब पीद़ित 

 व्यक्ति िा उलं्लघन दिया जाता है तो अिालतो ंिो उनिे प्रवततन 

 िे दलए स्थानांतररत िर सिते हैं। मौदलि अदििार और दनिेश 

 दसद्ांत प्रिृदत में गैर-न्यायसंगत हैं क्ोदंि वे अिालतो ंद्वारा उनिे 

 उलं्लघन िे दलए िानूनी रूप से लागू नही ंहैं। इसदलए, सरिार 

 िो लागू िरने िे दलए मजबूर नही ंदिया जा सिता है। 

Ans.23(B)  माना वगत िी भुजा a है। 

 सवाल िे मुतादबि 

 
4𝐴

𝐴2
=

8

11
 

 A= 11/2 

 पररदि = 4 A = 22 

Ans.24(C)   

  
Ans.25(C) भारतीय संदविान िे अनुचे्छि 53 (1) िे अनुसार, िायत पादलिा 

 िे प्रमुख भारत िे राष्ट्र पदत होते हैं। उनिे पास सभी संवैिादनि 

 शक्तियां होती हैं दजनिा प्रयोग वे सीिे या अिीनस्थ अदििाररयो ं

 िे माध्यम से िर सिते हैं। 

Ans.26(D)  अनुसररत स्वरुप नीचे दिखाया गया है, 

 4 × 2 = 8 

 8 × 2 = 16 

 16 × 2 = 32 

 32 × 2 = 64 

 64 × 2 = 128 

 अत: सही उत्तर 32 है। 
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Ans.27(B)  एि सेब िी िीमत में 20% िी िमी होने से एि आिमी रु. 54 

 से 10 अदिि सेब खरीि सिता है। 

 इसिा मतलब वह 10 सेब रु. (54 िा 20% = 54/5) में खरीिता  

 हैं| 

 ∴ 10 सेब िा लागत मूल्य = रु.  (54/5) 

 ⇒ 1 सेब िा लागत मूल्य = रु.  (54/50) 

 ⇒ 12 सेब िा लागत मूल्य = (54/50) × 12 

 = रु. 12.96 

Ans.28(B)  A : B : C = 6 : 4 : 3 िा अनुपात 

 A = 
2600

13
 × 6 = 1200 

 B = 200 × 4 = 800 

 C = 200 × 3 = 600 

Ans.29(D) सुल्तानपुर नेशनल पाित  (पूवत में सुल्तानपुर पक्षी अभयारण्य) 

 हररयाणा िे गु़िगांव से पंद्रह दिलोमीटर और भारत में दिल्ली से 

 50 दिमी िूर सुल्तानपुर में क्तस्थत है। 

Ans.30(B)   पेररयार राष्‍ टर ीय उद्यान और वन् यजीव अभ् यारण् य, भारत िे िेरल में 

 िोट्टायम और पथानामदथत् ता िे इडुक् िी दजले में थेक् िडी िे पास 

 एि संरदक्षत के्षत्र है। 

Ans.31(C)  बीच में चंुबिीय रेखाएं एि िूसरे से बहुत िूर हैं और धु्रवो ंपर एि 

 िूसरे िे िरीब हैं, यही िारण है दि िें द्र में चंुबिीय बल धु्रवो ंसे 

 िम है। 

Ans.32(D)  1 × 3 + 5 = 8  

 8 × 3 + 5 = 29 

 29 × 3 + 5 = 92  

 92 × 3 + 5 = 281  

 281 × 3 + 5 = 848 

Ans.33(A)  दसर और मक्तिष्क िे अदतररि अन्य क्तस्थदतयो ं में दिए गए िो 

 भाग एि िूसरे से जु़ेि हुए हैं। मक्तिस्क दसर िे अन्दर होता है 

 नादि उससे जु़िा हुआ | 

 इसदलए, दसर: मक्तिष्क बेजो़ि शब्द जो़िी है। 

Ans.34(B)  5 सिस् यो ंिी वततमान आयु = (5×17+3×5)  

 = 100  वर्त 

 5 सिस् यो ंऔर एि बच् चे िी वततमान आयु  

 = 17×6 = 102 वर्त 

 बच् चे िी आयु = 102-100 = 2 वर्त 

Ans.35(C)  गोदवन्द ˃ ग्वाला ˃ िृष्ण ˃ नंिू िे क्रम में होगा। 

 अतः  नंिू सभी में सबसे छोटा है। 

Ans.36(A)  जैसे, 3×2= 6 और 8×4 = 32, 

 इसदलए 3×2×8×4 = 632 

 2×4= 8 और 4×4 = 16,  

 इसदलए 2×4×4×4 = 816 

 इसी प्रिार, 3×3 = 9 और 5×1 = 5,  इसदलए  3×3×5×1 = 95 

Ans.37(C)  'राष्ट्र ीय'; दिए गए शब्द में िोई डबल 'एन' नही ंहै। 

Ans.38(D)  मेघनाि एि िायत िो 45 घंटे में पूरा िर सिता है।  

 जयश्री उससे 50% अदिि िुशल है  

 ⇒ मेघनाि िायत िा 1/45 दहस्सा एि घंटे में िरेगा और जय श्री 

 (1/45 + 0.5 × 1/45) = 1/30 दहस्सा एि घंटे में िरेगी।  

 ⇒ िोनो ंिा एि घंटे िा िायत = (1/45 + 1/30)  

 ⇒ 5/90  

 ⇒ 1/18  

 ∴ िोनो ंदमलिर उस िायत िो 18 घंटे में पूरा िरें गे। 

Ans.39(A)  सरिार वल्लभभाई पटेल िो भारत िे लौह व्यक्ति िे रूप में 

 जाना जाता है 

 इसी प्रिार, राष्ट्र  िे दपता महात्मा गांिी हैं 

Ans.40(D)  मेजर ध्यान चंि 

Ans.41(C)  नीली क्रांदत भारत में मछली उत्पािन, मत्स्यपालन से संबंदित है। 

Ans.42(C)  एि एिीिृत पररपथ ( आईसी ), दजसे िभी - िभी दचप या 

 माइक्रोदचप िहा जाता है , यह एि अितचालि वेफर होता है दजस 

 पर हजारो ंया लाखो ंनन्हें प्रदतरोिो ं , संिाररत्रो ंऔर टर ांदजस्टरो ंिो 

 जो़िा जाता हैं। एि एिीिृत पररपथ (आईसी) एि प्रविति, 

 ऑसीलेटर (प्रणोिि), समयपाल, गणि, िंपू्यटर सृ्मदत, या 

 माइक्रोप्रोसेसर िे रूप में िाम िर सिता है। 

Ans.43(B)  बगीचे में पे़ि िी िुल संख्या 100 इिाई होनी चादहए। 

 नाररयल िे पे़िो ंिी संख्या = 100 = 60 इिाई िा  60% 

 आम िे पे़िो ंिी संख्या = 60% िी 25% = 15 इिाई। 

 सेब पे़िो ंिी संख्या = 15 = 3 इिाई िा 20%। 

 प्रश्न िे मुतादबि 

 3 इिाई = 1500 

 1 इिाई = 500 

 100 इिाई = 50000 

 मूल विवि: 

 यदि बगीचे में पे़ि िी संख्या एक्स हो 

 दफर, 

 𝑥 ×
60

100
×

25

100
×

20

100
= 1500 

 ⇒ x × 
3

5
×

1

4
 ×

 1

5
 = 1500 

 ⇒ x =1500×5×4×5/3 = 50000 

Ans.44(A)  हर्त (590-647 CE), दजसे हर्तवितन भी िहा जाता है, एि भारतीय 

 सम्राट था दजसने उत्तर भारत पर 606 से 647 CE. ति शासन 

 दिया था। वह पुष्यभादत वंश से संबंदित थे। पुष्यभाती राजवंश िी 

 प्रारंदभि राजिानी हररयाणा िे थानेसर में थी, दजसे उत्तर प्रिेश िे 

 िन्नौज, हर्तवितन द्वारा स्थानांतररत दिया गया था। 

Ans.45(D)  P = 2(l+b)  

 2(l+b) = 48  

 l+b =24----(i)  

 A= lxb  

 lxb = 108----(ii)  

 (I) और (ii) िो हल िरिे, हमें दमलता है: 

 L= 18 मीटर और B = 6 मीटर। 

Ans.46(A)  ⇒ a2 + b2 = ab 

 ⇒ a2 + b2 - ab = 0 

 ⇒ (a3 + b3)(a2 + 6a + 12) 

 ⇒ (a + b)(a2 + b2 - ab) (a2 + 6a + 12) 

 ⇒ (a + b)(a2 + 6a + 12) = 0 Short Trick: 

 Here, One equation and two variable, so a and b can  

 have infinite value : 

 let suppose that a = 0 

 then, a2 + b2 = ab (a = 0) 

 ⇒ b = 0 

 So,  

 ⇒ (a3 + b3) (a2 + 6a + 12) (a = 0, b = 0) 

 ⇒ (a3 + a3)(a2 + 6a + 12) = 0 

Ans.47(A)  हम जानते हैं दि, 

 sin 0° = 0 और sin 90° = 1 

 ⇒ sin 1°, 0 िे दनिट है और sin 89°, 1 िे दनिट  है 

 ∴ p, 0 िे दनिट है और q , 1 िे दनिट है। 

Ans.48(D)  वणतमाला क्रम है: 

 iv. अचल  v. जांच िरें  

 ii. अजेय   i. असंगत  iii. अथि 

 इसदलए सही क्रम है (iv, v, ii, i, iii)। 

Ans.49(D)  माना दि अंदित मूल्य y रूपये और क्रय मूल्य x रूपये है।  

 छूट िे बाि, दवक्रय मूल्य = y × (100 – d)/100  

 जहाँ ‘d’ पेश िी गई छूट िा प्रदतशत है।  

 लाभ = 11%  

 ∴ (दवक्रय मूल्य – क्रय मूल्य)/क्रय मूल्य = 0.11  

 ∴ दवक्रय मूल्य/क्रय मूल्य = 1.11  

 [y × (100 – d)]/(x × 100) = 1.11  

 लेदिन, y/x = 37/30  

 ∴ 100 – d = 1.11 × 100 × 30/37  

 = 0.03 × 100 ×  30 = 90  

 d = 100 – 90 = 10% 

Ans.50(D)  पे्लदटनम, सोदडयम, सुरमा और दक्रप्टन िा गलनांि क्रमशः  1,768 

 °C, 97.79 °C, 630.6 °C और -157.4 °C है। इसदलए इन सभी 

 तत्ो ंमें से दक्रप्टन िा गलनांि सबसे िम है।  
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